[MirectEons—{(). 1-5) These fuess-
tions are followed by the arguments
numbered as 1 and 11 You have to
decide and - give answer in the
ol g imy weay -

LAY TFomby atgument 1is strong,

(Bl 'Ifrmr:.-'.arﬁumnwﬂ i% SO,

() IF both srguments 1 and 1

@ SHTomg,
(L¥ IF neither argument 1 owor
argurnent 11 is st
1. Should Doctors form & o ?
L Mo, medical 15 a noble
profession and [orming a

b b8 agaist the cthics of
that profesion.

1. Wesx, Even a little demand =
nind Fa:id attention unless
vou present it as a united
Eroup.

Should Hheralization essential for

Ingdia 7

ia

1 Yos, to feod huge population
of India we r-r'qu'i:r['- latest
techmology and im =hott
tirne this demand can only
b fulfillesd by liberalication.

. KMo, liberalization canndost
fight  poverty and
unemployment and these
problems will increase by
this way because advance
technology  requires  less
'in]:ru! and IMATTPOWET.

3 Should film-censorship be aboli-

shed 7

1. Mo, present trend of abolish
ing ectablished I,'|'|'i11g$
should be opposad.

I Wes, Art cannot grow and

develop in a climate of
vl

4. Should ses-education be erwora-
gied in schools ¥

L Moy it wall disturb the old
study pattern of the school.

1L Yes, it will gave right intor-
mation at the right time
which will help a child to
tackle these kinds of pro
klemns in Fudure

5, Should foreign press media enter

i Imdia ?

I. Mo, they will give better
information which can lead
to raining of Indian press
insfustry,

IT  Yes, those which give exact
and trwe mews will get beteer
response and in this way the
forcign press media belp us
for reaching ko depih of
truthmiess.

[erections—ICk 6~10} Head the
following information to answer the
s bR —

Six bovs P, Oy R, 5, T and U play
hockey, cricket and badmintom and
oo FRAms, rards, rhess  and
scrabble, Each :Ix:«}r pJa_l,.'H o indonr
amd ome outdoor game and each
game is played by bwo boys. Shady
the staternents given below  and
answer the guestions that follow—

(11 P anad U do mot play hockey

or serabble.

2] R oand 5 do not play ericket
or choss,

(31 P and Q) donot play cricket.

(4] 0 does not play badminton
or scrabble and K docs not
play hockey or scrabble

3] Cricket players do naot play
cards,

6] Tand Crdo not play chess,

B, Which rwo games does T play 7
(A} Hockey and cards
(B Cricket and cards
() Cricket and scrabble
{3 Badminton and scrabble

Which two boys play badmin-
ton ?

=]

(A 5. T {B} " B
i UR o rs
B. Who plays hockey and chiss ?
(Ap 0 (Bl &
W) R {0 Mone

B, Which statement is snperfluos 7
(A} {21 (B {4
i) {5 (D) Mone
1 Whick two bawys play cards ?
Ay QLR (B} LL T
0 RS o) R
Drirection=—I{Q). 11-14} Match
the questions given bolow with (A,
(B (C} and (D} on the base of

refationship among items. The items
may nast e i the same order.

(A} Beverage : Coffor : Tea
(Bl Qak : Pine : Eneabyprus
() Mpontam - Sniow : Forest
(D} Accicent - Injury : [amm

11, Face : Maose @ Mouth

12 Ewa pl:lr.al.'i,q,m {Tlonad : Raim

13 ]"h:,.':-:i.:*-: : l'.'hrm:in:h}' s Botamy

14 Ipesect - Mosquito @ Flies
Drirection=—{Ck 15=20) In these

quisstions given below, statements 1

and I are followed by comlusions |

and [ Taking the statements to boe

true although they appear at variance

with commonly accepted facts, mark
youir answers a4 under—

tAal {}I'n]?.' conchagion | follows
from the statements

B E}n]:..' comwclusion [ followrs
fromm the statements

Both 1 and 1 follow from the
statemients
(13 Meither T ror T follows
15 SEatemicnbs
1. All rats are dogs
2. Somedoegs are buolls,
Condlusions
L Some rats are bulls
1L Mo bull is & rat,

(8



16, Statements:
1 Al wormen are doctors,
2 Al doctors are nurses,
Comclusions
[. Al morses are women.
I Sorme nueses are wormen,

17. Statements :
1.  Sorme ivees are birds.
2 All birds are snails.
Conclusions
[.  Sormesnails are trees.
Il Some birds are not tmes

18. Statements:

1. A is taller than B but shorter
than ©C and I¥ whao is taller
than E.

2. Eis taller than A but shorter
thar ¢ wiho is taller than [,

Caosmclusiomns

I, Bis the shortest,

. C isthe tallest

19, Statements

1. Omly those students wers
admitted to college who
wiere cither hockey-playerd
of danoers,

2 All players were singers.
Casmclusions

I.  All singrers were admitbed o

the college.
[l Some singers woere hockey-
P'FI Yirs aE well
M, Statements:
L. All the cancer patients were
o,

2. Al the cured pabients grew

fat.

Comclusions

I. Al cancer patients grew fat.

[l Patients soffering from other

diseases wene nol cueed.
L1 e L'li::-lh—fl:!. 2125 Bead e
following infermation fo answer the
Elven quesEions—
(i} A B.C D E and F are six
!a.m'i]:,r b

(til There is ome Doctor, one
Lawyer, one Engineer, hwo
Srudents and one Mouses
wrifes,

|:i'i"|:| There are tewn married
couples i the family,

F, whois 6 Doctor, s father
of E,

(i)

A is A Srudent and her
hersbamd is ek & I_.aw_l..'-rr.
{vi) B is grandmother of D and
= a Floasewife
(wiid C is Father-im-law of A and
i ary Ergrimeer,
(i) L is sister of E
2. How s E related o B ?
(Al Granddaughter
I:B} Girandson
(] G!'.:'Inlidau:qhtﬂt'mﬁmndm
(D Son-im-law
22, Which of the following is one of
the pairs of married couples ?
[A) FA {E) FB
{C) - F (I3 FI

23, Who is Doctor ?
{Al D
By F
(1 A's hashand
{0 s wife
24, How many female members ane
there o the family *
(Al Two
(B} Two or Thres
({7} Thres
(0 Thres or Foor
25, Which of the following stabe-
meents is dtf'i-n'rh:[}r true 7
{A) Fis the grandmaother of T
(B} Fis the father of the Lawyer
([} B is the mother of the
Shudent
(O [ is the sister of the Lawyer
CHrectmms—{) 26-28) Ths
number inside the triangle ABC in
each question has been arrived based
on some bogic and is dependent upon
the numbers wrdten outside the

tranghe. On the same logic, find ol
the missing number in triangle DEF.

{v)

26, A
B 7R 215 146
Bl b B F
{A) B2 (B) 62
() 42 (o 32

27, D
N zne A1 529
B— ¢ Bl

(Al Zad (B} 3180
(C) 33m0 (0¥} 3033
26 o
4 3
E 0 B
[A] MSh (B 4264
({7} Ea32 (¥ G464

Dhrections—{0). 29 and 30) In
each of these questions some num-
bers are siven in rows (A (B, ()
and (D). In three rows the numbers
are related to each other, while the
mombers im one rowe hiold no relation,
Idemitify that row,

29, {(A) 3 7L 3 4

5
(B 6 15,6, 8
1.3 .1
[ﬂ til'a_Tl i.l:
(D) 25213
A (A lp gl (B A2
S Pl O T8 | 1.3
() TTET (¥ ':I..g. g 'I::_;

Directons—{0, 31-35} .‘:'-I.'LHJ}' e
following mformation carehally and
ansewer the questions given below—

UQAXWZEZFDILOVEME
MCEGYEHFPTIE

Motp==Each latter gets a nume
rical valur based on its position in the
abewve arrangement starting from L7
(Take U=1, Q=2 A=3, and 50
ml
. The valoe of which of the fellow-

ing comsomants when added to

that of the vowe] which Follosws it

immediately amount to 27 *

(Al By 5
i) Z i v
32. Spme of the lotters in the sbova

arrangement occupy the same
posstion as they occupy in the
English alphabet sequence. What
will b the sum of the numeric
valoe :|t.v=.=ig11ﬁj tes therse leskters 7

{A) B3 By 27
) 3 (¥ 41

3% Threee of the following four are
alike in a certain way basesd on
their position o the  abowve
arrangemnent and form a group.
Which is the ome that does not
baedonig do that groap ?



(Al FNE (B} 5G]
) IVR {0 LMH

34 IF starting from © all the com-
somants 1 the aboees arranmge-
ment are given sequentially the
value of even numbers such as O
=2 X=4 W=band so on and
all the vowels are siven the value

T each, then what will be the
value of the letters in the word
CLUSTOR ?

(AL 9R (B} 116
iy 122 {0 140

35 IF letters of the word EXARMI-
MNATION are given the same
numeric values as their numeric
vahues in the abowe arrAngement,
then what will be its code 7
(A} 127 (B} 133
(O 13 {144

3. What is refated to Lapse in the

sarne way as Session is related to
Conclude 7

(A Agemey (B Policy
{(Ch Permit D Leawve
A7 I as related to Condition in the
sate way as Buot is related to—
(Al Dixa:l:lpwn'.-'a.l
[=1] Mr:ﬁ;l:im
1 Contradiction
(D Strengthen

3. Clock i= related to Time m the
SAIME Way as Vehicle i= related o

which of the fq'-'ll'q'«wi.nﬂ 7
(A Road 18] hmrn["_l.'
() Fuel 0 Passenger

3 Bread s related to Wheat in the
satne way as Brick is related to—
(Al Clay {B) Building
(C) Fire (D Cemend

# Drommer 5 eelabed to Orchesica

i e same way as Minister is
related to—

(A} Wober

(B Constitsenoy

(0 Cabinet

(¥ J:kzparbnm!

Directions—={}, 41-45) In each of
the: following letter saries, some of the
letters are missing which are given in
that prder as one of the altrmatives
hekpw if. Choose the correct alter
nakive,

41. t=high=jhij=ij=l=klm

(Al gikkij {B)jijlk
) tihijk M ihjfk
42 Me=D=0TH =TI =TTk
(Al momon
B mnmon
{70 mnomomm
¥ monmno
43 gQ-T-s585QT-VF-85—-4
LAl resqr Bl srgsq
) rgqrs (D) gsrsq
. —jixh-ijhyy-ix-x-jhy
(A} jlhxy (B} yxjhi
W hiyxj D xjihy

45 W w— - I ¥ - |l-=
Al lxwwg (Bl gwlxw
) wiwgx (D) xqlww
I recti ons—4{0, 46500 In cach of
thes fillpwing questions, chawres that
st of mumbers from the four
altermative sets, that is similar to the
VT =ik,

46, Givenset: (9, 77, 142}
(AL (109, 99, 119)
(B) {117, 63, 187
(00 {119, 949, 18T
(0 (e, 121, 127
A7 Given et - (8236, 574, 952}
(Al (Thd, 384, B54)
(B) {842, 654, 924)
(T {5%a, 478, 754)
(LY (BEZ, 196, 934

48 Given set: (112,136, 162)
LA} {65, B4, 105)
(B} {90, 128, 138)
W) (36, 52, TR
(D {96, 102, 162)
44 Given set @ (45, B4, 128)
LAl (33, 65, 105)
(B (36,70, 112)
(O 235280
(D {56, e, 144)
Sl Given set = {208, 439, 504)
(Al {379, 515, 744}
(BY (417, 658, 705
(0 (534, pa5, 913)
(D} {538, 725, 813}
{(r. 51-551 Use the
fu;ﬂrﬂwing bwey =erics of clements

I:.aITlh.a nurmbier ::.}'mhl:ll_l fr AMSWET
these questions. Every two-dizit num-

Tirections

biet {xmivemn im brackaets) is to be treated
as sl le rumber

Serfes [ O45T &4 B23R0OH
NP ToHE e @SGEBTEFY 2@
HoanDT

Series 11 #+ (13)BH A = {18} K
1IDE(IH]HN8Y 074 & 4
eI NNL=023MUN

51. If all the elements of sories | ane
reversed, and secomd half of
geries 1 is roverndsd, them which
o the Following pairs of elements
repre=enits seventh to the right of
seventeenth element from the left
o wories Iand third to the left of
sixth to the ri;p;i".t of thitteenth
elemnent from the rght of series 11
respectively 2
Al UL {6 711
o) Eoq3ek D (R, 11)

52, If cach symbel has a value of
zere, and sach alphabet has a
value eqguivalent o doable e
rumeral that immediately pre-
cedes it or the value pf 3 if it i=
sk 'immu.i'iatrl}' Pr:-.-ur:dcd |:|:|.' |
numeral, what will be the sum of
thes values of the first 10 elements
of zeries | and the laxt 10
clememits of series 11
LA 122 (H1 89
(C) 144 {3 33

53, What 15 the sum of the ramber of
murnbers in the first series which
are: immediately followed by a
better and immediately preceded
by a murnber, and the romber of
symbols noseries [ which ane
imninediately preceded by a nom -
beer and fmmediately followed by
a letter ?

(Al Mone
I Two

Bl {ne
D% Thres

Sb It series | oand series 11 are
combined in the same order o
make mega series fee, O ix
feldlenweesd by +, them which of the
Faondlapea i.111-; clements
n:-:.irl:l_:,' Tn'idwa}' hirtweem 1.r" amd
"z in the mega series 7 Where !
reprosents the clement which is
r-:-r.ai:rlf:,' m'in.tw'.a_',' hetwern fifth
elerment from the left and sixth
element from the right of series 1
Al ‘2 represents the element
which s exactly midway bet-
ween eighth element from the

will b



left amd Fifth element from the
n'g_h!' i seriee 11

(A) + (B 13

1} O (B

55, Cons=adering Series [ and Series 11
given above, which of the group
of elements given in the alter-
nmatives will come in the place of
the question-mark in the seres of
elements given below ?

ONP &Lz D53 * i a5
(A) FL{ZH (E) @l
(] eLzoy (D) F12M

Directivns—{Q. 56-60} In each
qu-:*.sl:i-e;m bl i H'iw-.n. a staberment
Follavaresd h}' Erariy .:n:ul:lmp!'il:lrb: naam
bered [ oand 11 An assumphien is
:umn-lh'ing :-:.uppl:lmd or taken for
granted. You have to consider the
staterment and the asﬁnrn.pl'in:mq ane
decide which of the assumptions is

implicie im  the statement. Give
ANEWET—
{A) If only assumptions | is
imnplicat;
B} W only assumption I is
i plicat;
{C} I peitheer | mor 11 ks immplacit;
amwd
(L 1E both [and I are implicit.

56. Statement : “Though the candi-
dates have been instructed to
bring pencils, yet provide spme
prnicils with rach imwigilator—
An mstruction to test admini-
siTation staff,

Assu mprinn-n 1

[.  Pencils are in short supply,

I, All the cenadidates will brimg
thie premcil,

57, Statement ! "Mlease drop  this
letber in the letter-box™—An
Officer bekls his Assistant.
Assumplions :

I. The Assistant knows the
address where the bether s
ti be ek

Il The Assistant would follow
the instructions.

58. Statement - “If you want timely
rl:lm'pE-rricm of  work pru'.'igdr

inrl-r:-prndrn: cabhins” =—An
employer tells the Director of a
Company

Assumptions |

[. There are mot  encugh

cabin=

&0,

. hers' presence hinders
timely completion of work,

Statement 1 “Best way to solve
thiz pfuﬂ?lrm of workers' dis-
aatisfaction is to offer them cash
rwards, IF this type of incentive
car salvie the problem in HUDCO
company then why not here” —

A Persomnel Manager fells the

Chatrman of a Company.

Assumplions :

[. The reason for workers
dissatisfaction in both the
‘L}.Ill'l.'l?.ﬂl‘l.‘il’."lWh.'ﬁ‘ilT‘lilll’.

fl. Monectary incentives have
v rsal .qp'Fr:al

Statement | “We nerdd o appoin?

T teachers"- -T':'inril:mi

informs the school staff.

Assumplions

I,  Teachers are available

[[l. MPresent teachers are 1ot
Fowd.

Answers with Hints
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